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QUESTION 1

What is the maximum number of disk shelves per loop in a fabric-attached MetroCluster?
Al

B. 2

C. 4

D.6

Correct Answer: B

You can cable a maximum of two disk shelves on each loop https://library.netapp.com/ecm/
ecm_download_file/ECMP1210206

QUESTION 2

You cannot remove the SyncMirror license if one or more mirrored volumes exist.

A. True

B. False

Correct Answer: A

You cannot disable the SyncMirror license if mirrored aggregates exist and are online.

http://hd.kvsconsulting.us/netappdoc/801docs/html/ontap/onlinebk/GUID-5058FDA7-68AE-4693- B343-
OE9FFEDFC86C.html

QUESTION 3

When migrating from Data ONTAP 7G to Data ONTAP 8.0 7-mode, existing non-traditional aggregates are designated
as

A. 16-bit

B. 32-hit

C. 64-bit

D. Foreign

E. Unknown
Correct Answer: B

Aggregates are never converted as part of an upgrade. An upgrade will not touch your data!
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QUESTION 4

If you were troubleshooting and wanted to look at SnapMirror log files, what is the path to these files?
A. IvollvolO/etc/log/snaplog/

B. /vol/volO/etc/snapmirror/

C. Ivol/volO/etc/snaplog/

D. IvolivolO/etc/log/

Correct Answer: D

https://library.netapp.com/ecmdocs/ECMP1196979/html/manl/na_snapmirror.1.html The root volume is always vol0 and
etc is contained therein. When exporting the root volume via NFS, the path is/vol/volO; so the full path to snapmirror log

files is /vol/volO/etc/log.
/etc/log/snapmirror.

This file logs SnapMirror activity. Log file for current week. /etc/log/snapmirror.[0-5] SnapMirror log files for previous
weeks.

QUESTION 5

What happens when two aggregates are rejoined?

A. It is not possible to rejoin aggregates.

B. Data ONTAP will always retain data from the newest aggregate.

C. Both aggregates revert to the last common snapshot before the split.

D. You will have a large new aggregate containing all volumes from both aggregates.

E. One of the aggregates will be overwritten and you will lose any data changed on it after the split.

Correct Answer: E

When you rejoin split aggregates, Data ONTAP mirrors the data from one aggregate to the other and destroys data that

existed on that aggregate before the rejoin. https://library.netapp.com/ecmdocs/ECMP1196991/html/GUID-
BOCB3DABE1AF-4BAC-A85B- 64C009010F4A. html
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